Efficiency vs P,

= 0.4
o
2 0.09
>
20.08
o
0.07
0.06
0.05
0.04
0.03
0.02
0.01
.0

............................................

o
4

e

-.n.

Ratio

1.1

iy

0.9

=
o
iN

MKF_TTorngmar

—=— DOQM_]

—e— DOQM_mkFit_TT_JanUpdate-noErr
—— DQM_mKFit_TT JanUpdate-statErr
—— DOM_mkFit_TT JanUpdate-systErr

= 0.1
4
Z0.09
$0.08
(8]
£0.07
©
0.06
0.05]
0.04
0.03
0.02
0.0

.........................................

............

—T p— T
3 + - .

1.4

Ratio

1.2

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02
0.01

..................................

» O
II _i'#-.'-.lfa'-.‘-.‘-.'.!.'.'.'.'.!.'.'.'.'.!.'.'.'.'.|.'.'.'.'.|.'.'.'.'{.'.'.'.'{.'.'.'.'{.'.'.'.'

Ratio
[
D




	Contents
	Page 1


